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yauheni-slide rule

ken- bag of stones
porter - table of trig
Khanyi- calculator $store
seth- abacus

saleem - prize candy
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Find the arc length of the given curve. Round your answer to four decimal places.

r=~06sinla

f(8) = 6sin2d
F'(8) = 12cos28

The arc length 15

[
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j J36sm226 + 144c0s226 a6

HORHAL FLOAT AUTO REAL RADIAM HPF n

20.0653.
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Find the area of one leaf of the rose r =sin 174.
—
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Find the area of one leaf of the rose r =sin 174.

T
Notice that one leaf of the rose is traced out with 0 € 6 < SV The

area is given by

T 5 e
_J.=J' T(sm1?e;.—de=TJ' sin? 176 d8

2 1
where we have used the half-angle formula sin” o= —1_[1 — cos 20)

to simplify the integrand.
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integral from 0 to pi/17 of .5(sin17x)"2 8 |

B E B Y B Web Apps = Examples 22 Random

Definite integral:

fﬁn.s sin?(17 %) dx = 0.0461999

1]
pen code J=
Visual representation of the integral:
0,05 010 0.15 0.20
s
More cases

Riemann sums:

left sum  0.0461999

(assuming subintervals of equal length)

D
|1-J“‘\~411c;r:|: \~M
fo.Ssm?u?xmx : @A{;] + constant
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Find a polar equation corresponding

x =5 x;\/'c.ose"—-s
~L =5 secd g

_ B.[|e5cscs V— = - — 55€C 9

_ C.|r]= 5 siné Cojg.
_ D.|r]= 5 cos@




152 day 29.notebook December 8, 2016

Given the polar point (r, ), find its rectangular representation.
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